





MAJOR DTNSRDC ORGANIZATIONAL COMPONENTS

. .

NDW-DTNSRDC 3960/43b (Rev. 11-75) GPO 928-108

REPORT DOCUMENTATION PAGE	READ INSTRUCTIONS
1. REPORT NUMBER 2. GOV	T ACCESSION NO. 3. RECIPIENT'S CATALOG NUMBER
DTNSRDC/SME-78/19	(a)
THLE (and Sublide)	T CONL
CONCENTRATION AND THE MEASUR	RED Research & Developmen
CONCENTRATION INSIDE A	6. PERFORMING ONS. REPORT NUMBER
SAMPLING CHAMBER .	S. CONTRACT OR GRANT NUMBER(s)
OTSI Shan Yu (16)F575	72 (7 ZF 57 572 \$ \$3
9. PERFORMING ORGANIZATION NAME AND ADDRESS	10. PROGRAM ELEMENT, PROJECT, TASK
David W. Taylor Naval Ship R&D	Center Prog Element 62765N
Bethesda, Maryland 20084	Work Unit $1-2860-101$
11. CONTROLLING OFFICE NAME AND ADDRESS	12. REPORT DATE
Navy Materials Command (Code 08	BT241) (/ Jun (0)
Washington, D.C. 20362	12 (12) 15p.
14. MONITORING AGENCY NAME & ADDRESS(If different from C	introlling Office) 15. SECURITY CLASS. (++ this report)
	SCHEDULE
APPROVED FOR PUBLIC RELEA	ASE; DISTRIBUTION UNLIMITED.
APPROVED FOR PUBLIC RELEA	ASE; DISTRIBUTION UNLIMITED.
APPROVED FOR PUBLIC RELEA	ASE; DISTRIBUTION UNLIMITED.
APPROVED FOR PUBLIC RELEA	ASE; DISTRIBUTION UNLIMITED.
APPROVED FOR PUBLIC RELEA 17. DISTRIBUTION STATEMENT (of the obstract entered in Block 18. SUPPLEMENTARY NOTES 19. KEY WORDS (Continue on reverse eide if necessary and identif Concentration	ASE; DISTRIBUTION UNLIMITED.
APPROVED FOR PUBLIC RELEA 17. DISTRIBUTION STATEMENT (of the obstract entered in Block 18. SUPPLEMENTARY NOTES 19. KEY WORDS (Continue on reverse eide if necessary and identif Concentration Concentration Measurement	ASE; DISTRIBUTION UNLIMITED.
APPROVED FOR PUBLIC RELEA 17. DISTRIBUTION STATEMENT (of the obstract entered in Block 18. SUPPLEMENTARY NOTES 19. KEY WORDS (Continue on reverse olde if necessary and identify Concentration Concentration Concentration Measurement Measurement Sampling	ASE; DISTRIBUTION UNLIMITED.
APPROVED FOR PUBLIC RELEA 17. DISTRIBUTION STATEMENT (of the obstract entered in Block 18. SUPPLEMENTARY NOTES 19. KEY WORDS (Continue on reverse side if necessary and identify Concentration Concentration Measurement Measurement Sampling 20. ABST (Continue on reverse side if necessary and identify	ASE; DISTRIBUTION UNLIMITED.
APPROVED FOR PUBLIC RELEA 17. DISTRIBUTION STATEMENT (of the obstract entered in Block 18. SUPPLEMENTARY NOTES 19. KEY WORDS (Continue on reverse elde if necessary and identify Concentration Concentration Measurement Measurement Sampling 20. ABST ACT (Continue on reverse elde if necessary and identify A mathematical relationship and the measured concentration ing into a sampling chamber is rate and the size of the sampli- tion of the measured concentration ing into a sampling chamber is rate and the size of the sampli- tion of the measured concentration	ASE; DISTRIBUTION UNLIMITED. * 20, 11 different from Report) (y by block number) (y by block number) ip between the real concentration of a material in a stream flow- derived. It shows how the flow ing chamber affect the determina- tion. Graphical and numerical onship are presented. The
APPROVED FOR PUBLIC RELEA 17. DISTRIBUTION STATEMENT (of the abetract entered in Block 18. SUPPLEMENTARY NOTES 19. KEY WORDS (Continue on reverse aids if necessary and identify Concentration Concentration Measurement Measurement Sampling 20. ABST ACT (Continue on reverse aids if necessary and identify A mathematical relationship and the measured concentration ing into a sampling chamber is rate and the size of the sampli- tion of the measured concentration ing into a sampling chamber is rate and the size of the sampli- tion of the measured concentration representations of this relation	ASE; DISTRIBUTION UNLIMITED. * 20, 11 different from Report) fy by block number) y by block number) ip between the real concentration of a material in a stream flow- derived. It shows how the flow ing chamber affect the determina- tion. Graphical and numerical onship are presented. The for the (Continued on reverse side)
APPROVED FOR PUBLIC RELEA 17. DISTRIBUTION STATEMENT (of the abetract entered in Block 18. SUPPLEMENTARY NOTES 19. KEY WORDS (Continue on reverse alde if necessary and identify Concentration Concentration Measurement Measurement Sampling 20. ABSTRACT (Continue on reverse alde if necessary and identify A mathematical relationship and the measured concentration ing into a sampling chamber is rate and the size of the sampli- tion of the measured concentration ing into a sampling chamber is rate and the size of the sampli- tion of the measured concentration ing into a sampling chamber is rate and the size of the sampli- tion of the measured concentration ing into a sampling chamber is rate and the size of the sampli- tion of the measured concentration ing into a solution of this relations there are a the size of the sampli- tion of the measured concentration ing into a solution of this relations there a the size of the sampli- tion of the measured concentration is rate and the size of the sampli- tion of the measured concentration is representations of this relations S/N 0102-LF-014-6601	ASE; DISTRIBUTION UNLIMITED. * 20, If different from Report) * 20, If different from Report) * by block number) y by block number) ip between the real concentration of a material in a stream flow- derived. It shows how the flow ing chamber affect the determina- tion. Graphical and numerical onship are presented. The flow (Continued on reverse side) UNCLASSIFIED SECURITY CLASSIFICATION OF THIS PAGE (When Date Entered

UNCLASSIFIED SECURITY CLASSIFICATION OF THIS PAGE (When Data Entered) Block 20 continued) relationship can be used to predict possible errors involved in sampling. It also can be used by designers of processes, equipment, and instruments to size sample or mixing chambers when the flow rate and the variation in concentrations are known. and the many for the state 27 TRANINE mouse . NULLEY THE REAL CHARTER Dist. AVAL BOLA

Ver Barris Contraction Contraction

UNCLASS IFIED SECURITY CLASSIFICATION OF THIS PAGE (When Date Entered)

TABLE OF CONTENTS

																										Page
LIST C	OF 1	FIG	UF	RES																						iii
TABLE .	•		•	•	•		•	•	•	•						•	•								•	iii
NOTATI	ON			•	•		•		•	•		•	•		•	•	•									iv
ABSTRA	CT			•		•	•	•	•	•	•	•													•	1
ADMINI	ST	RAI	'IV	/E	IN	FC	RM	IAT	IC	DN				•												1
INTROD	UC	FIC	N					•	•	•	•	•		•												1
THEORY	•		•				•	•				•	•	•						•	•					2
E	FFI	ECI THE)F 1EA	TH	E RE	CC D	NC	EN	TF	RA'I		ON FIC	OF N	A	N	IN	FL	UE	INT	s	TF	EA	M		
C	HA	MBE	R	•	•	•		•		•	•		•		•	•	•		•	•	•	•	•	•	•	2
D	ER	IVA	TI	ON	۰.	•	•		•	•	•	•	•	•	•		•		•	•	•	•	•			3
RESULT	'S	OF	TH	łΕ	DE	RI	VE	D	E۶	KPF	RES	s	ON		•	•			•			•	•			4
APPLIC	AT	ION	١.																•		•	•				7

LIST OF FIGURES

1	-	Sampling Chamber	2
2	-	Flushings Required to Equalize Incoming and Outgoing Concentration of a Sample Chamber	5
3	-	Error Prediction Under Different Operation Conditions	6

TABLE

1	-	Numerica	al Solutio	ns to	Equatio	on (7)	111	lus	tra	at-	-			
		ing the	Effect of	Flush	ning of	the	v v	aria	ati	on					
		Between	Influent	and Ef	fluent		•			•	•	•	•	•	7

78 06 22 146

iii

and the second for the

NOTATION

с	Concentration
Ci	Concentration of incoming fluid
Co	Concentration initially inside a chamber
n	Number of flushings
Q	Flow rate
t	Time
v	Volume of sampling chamber

Manual and a second for the second

ABSTRACT

A mathematical relationship between the real concentration and the measured concentration of a material in a stream flowing into a sampling chamber is derived. It shows how the flow rate and the size of the sampling chamber affect the determination of the measured concentration. Graphical and numerical representations of this relationship are presented. The relationship can be used to predict possible errors involved in sampling. It also can be used by designers of processes, equipment, and instruments to size sample or mixing chambers when the flow rate and the variation in concentrations are known.

ADMINISTRATIVE INFORMATION

This work was carried out under Program Element 62765N, Task ZF-57-572-003, David W. Taylor Naval Ship Research and Development Center Work Unit 1-2860-101.

INTRODUCTION

One of the elements required to control a continuous process is the knowledge of the changes that occur in the properties and characteristics of the flowing stream, so that the necessary adjustments can be made before the controlled process variable deviates from the intended range. The measurable properties are often temperature, pressure, pH, viscosity, density, reflective index, flow rate, concentration, etc. It is recognized that, if the measurement of the real property of the flowing stream is required, a good sample and a good mixing device are essential. When the constituents in the stream are homogeneous, the dependence on mixing may be less important than in a poorly mixed stream where the distribution of the properties of the constituents in the flowing stream are not well defined. When the latter is the case, the mixing device, the size of the mixing chamber, and the rate the mixing chamber in the sampling system is being filled can all affect the

measured property "seen" by a sensor. This report presents the depending relationship of such a measured property on the flow rate and the size of the chamber containing the sensor.

THEORY

EFFECT OF THE CONCENTRATION OF AN INFLUENT STREAM ON THE MEASURED CONCENTRATION INSIDE A MEASURING CHAMBER

Consider a rigid measuring chamber in which a sensor is placed. It is assumed that the mixing of the influent fluid (whose constituents are of conservative nature)* with the fluid which is already inside the chamber is so effective that the properties of the fluid leaving the chamber are the same as the mixed fluid within the chamber. Other effects on the fluid inside the chamber are assumed to be negligible.

A relationship between the concentration of the fluid inside the measuring chamber and the concentration of the fluid entering the measuring chamber can be derived for a constant rate of flow, provided the volume of the measuring chamber is known. Figure 1 is a schematic diagram on which this derivation is based.



Figure 1 - Sampling Chamber

^{*}A conservative substance is defined as one whose property does not change with time.

DERIVATION

When a sample measuring chamber of volume V filled with fluid of concentrational initially at C_0 is fed with fluid at a rate of Q but of a different concentration C_1 , the sensing device inside the chamber would measure the concentration C inside the chamber as it changes from C_0 to C_1 . If it is assumed that the mixing inside the chamber is effective and other effects are negligible, the fluid leaving the chamber can be assumed to have the same concentration C as the concentration of the fluid inside the chamber at that instant. The change occurring inside the chamber over an infinitesimal amount of time can be expressed mathematically as:

$$d(CV) = QC_i dt - QCdt$$
(1)

When the volume of the measuring chamber V and the flow rate into the chamber Q are fixed, Expression (1) can be rearranged as:

$$\left(\frac{Q}{V}\right) dt = \frac{dC}{C_{i} - C}$$
 (2)

When this expression is used to express the variation in concentration of the fluid inside the chamber from C_0 initially at time zero to C at time t, Equation (2) can be integrated and becomes:

$$\frac{Q}{V} t = \frac{C_i - C_o}{C_i - C}$$
(3)

The relation between the flow rate Q of the stream and the volume of the sampling chamber V is such that

$$Qt = nV$$
 (4)

That is, during the time t, the chamber of volume V has been flushed n times by a fluid flowing at a rate Q. Utilizing this relation, Equation (3) becomes:

$$n = \ln \left(\frac{C_i - C_o}{C_i - C} \right)$$
(5)

or

$$e^{n} = \frac{C_{i} - C_{o}}{C_{i} - C} = \frac{1 - C_{o}/C_{i}}{1 - C/C_{i}}$$
 (6)

Rearranged, Equation (6) becomes:

$$\frac{C}{C_{i}} = 1 - e^{-n} \left(1 - \frac{C_{o}}{C_{i}} \right)$$
(7)

Equation (7) shows that, under a steady flow condition, the variation in concentration of the fluid leaving a well-mixed chamber can be predicted if the concentration change of the fluid flowing into the chamber is known. It also shows that, under this condition, one can estimate how soon, or after how many flushes, the concentration inside a sample measuring chamber, or the concentration of the effluent leaving a mixing chamber, becomes the same as the influent.

RESULTS OF THE DERIVED EXPRESSION

Graphical representations of Equation (7) are shown in Figures 2 and 3. They are based on the calculated results in Table 1. Figure 2 shows that it requires a minimum of four flushings for the concentration inside a sample measuring chamber, or the effluent leaving a mixing chamber to approach the same concentration as the influent. Figure 3 shows the relation between $C/C_i \times 100$ (measured concentration in percent of influent concentration) and C_i/C_0 (ratio of influent concentration to initial concentration inside a chamber) when a different number of flushings was used.



Figure 2 - Flushings Required to Equalize Incoming and Outgoing Concentration of a Sample Chamber

5





n	c _i /c _o	c/c _o	c _i /c	c/c _i	n	c _i /c _o	c/c _o	c _i /c	c/c _i
0	4	1.000	4.000	0.250	0	0.75	1.000	0.750	1.330
0.25	4	1.663	2.404	0.415	0.25	0.75	0.944	0.793	1.259
0.5	4	2.180	1.834	0.545	0.5	0.75	0.901	0.831	1.202
1	4	2.896	1.381	0.724	1	0.75	0.842	0.890	1.122
2	4	3.594	1.113	0.898	2	0.75	0.783	0.956	1.045
3	4	3.850	1.038	0.962	3	0.75	0.762	0.983	1.016
4	4	3.945	1.013	0.986	4	0.75	0.754	0.993	1.006
5	4	3.979	1.005	0.994	5	0.75	0.751	0.997	1.002
10	4	3.999	1.000	0.999	10	0.75	0.750	0.999	1.000
0 0	3	1,000	3.000	0.333	0	0.5	1.000	0.500	2.000
0.25	3	1.442	2.079	0.480	0.25	0.5	0.889	0.562	1.778
0.5	3	1.786	1.678	0.595	0.5	0.5	0.803	0.622	1.606
1	3	2.264	1.324	0.754	1	0.5	0.683	0.731	1.367
2	3	2.729	1.099	0.909	2	0.5	0.567	0.880	1.135
3	3	2.900	1.034	0.966	3	0.5	0.524	0.952	1.049
4	3	2.963	1.012	0.987	4	0.5	0.509	0.982	1.018
5	3	2.986	1.004	0.995	5	0.5	0.503	0.993	1.006
10	3	2.999	1.000	0.999	10	0.5	0.500	0.999	1.000
0 0	2	1.000	2.000	0.500	0	0.25	1.000	0.250	4.000
0.25	2	1.221	1.637	0.610	0.25	0.25	0.834	0.299	3.336
0.5	2	1.393	1.435	0.969	0.5	0.25	0.704	0.354	2.819
1	2	1.632	1.225	0.816	1	0.25	0.525	0.475	2.103
2	2	1.864	1.072	0.932	2	0.25	0.351	0.711	1.406
3	2	1.950	1.025	0.975	3	0.25	0.287	0.870	1.149
4	2	1.981	1.009	0.990	4	0.25	0.263	0.947	1.054
5	2	1.993	1.003	0.096	5	0.25	0.255	0.980	1.020
10	2	1.999	1.000	0.999	10	0.25	0.250	0.999	1.000

TABLE	1	- NUMERI	CAL	SOLUTION	I TC) EQU	JATION	(7)	ILLUSTRATING	THE
		EFFECT	OF	FLUSHING	OF	THE	VARIAT	ION	BETWEEN	
				INFLUENT	ANI) EFF	LUENT			

APPLICATION

This relationship can be used by designers of processes, equipment, or instruments. If the variation in the ratio of influent concentration to concentration of fluid originally inside a sample measuring chamber, or the concentration initially inside a mixing chamber, are known, the designer can predict the error, as well as other operating conditions, and can select appropriate chamber sizes for different flow rates. A process control manufacturer, therefore, can design his control system by selecting a sensing device which has an appropriate delay in its response time. This derived relation is also useful to evaluate a process in which the concentration in the flowing streams is varying.

What have been start and a start of the

INITIAL DISTRIBUTION

Copies		CENTER DIS	TRIBUTION
1	NAVMAT Code 08T241	Copies	Code
5	NAVSEA	1	28
	1 SEA 0331F 1 SEA 04F	l	280/2802
	2 SEA 09G32	3	283
2	NAVSEC SEC 6159	3	286
12	DDC	l	2861
		6	2862
		1	2863
		1	522.1
		2	5231

[]

DTNSRDC ISSUES THREE TYPES OF REPORTS

1. DTNSRDC REPORTS, A FORMAL SERIES, CONTAIN INFORMATION OF PERMANENT TECH-NICAL VALUE. THEY CARRY A CONSECUTIVE NUMERICAL IDENTIFICATION REGARDLESS OF THEIR CLASSIFICATION OR THE ORIGINATING DEPARTMENT.

2. DEPARTMENTAL REPORTS, A SEMIFORMAL SERIES, CONTAIN INFORMATION OF A PRELIM-INARY, TEMPORARY, OR PROPRIETARY NATURE OR OF LIMITED INTEREST OR SIGNIFICANCE. THEY CARRY A DEPARTMENTAL ALPHANUMERICAL IDENTIFICATION.

3. TECHNICAL MEMORANDA, AN INFORMAL SERIES, CONTAIN TECHNICAL DOCUMENTATION OF LIMITED USE AND INTEREST. THEY ARE PRIMARILY WORKING PAPERS INTENDED FOR IN-TERNAL USE. THEY CARRY AN IDENTIFYING NUMBER WHICH INDICATES THEIR TYPE AND THE NUMERICAL CODE OF THE ORIGINATING DEPARTMENT. ANY DISTRIBUTION OUTSIDE DTNSRDC MUST BE APPROVED BY THE HEAD OF THE ORIGINATING DEPARTMENT ON A CASE-BY CASE BASIS.

at Carriers Constant